
  

 OBSAH A OBVOD (M-06-01) 

         PRAVOÚHLÝCH ČTYŘÚHELNÍKŮ 

 

Dané hodnoty doplň do vzorce, vypočítej a doplň tabulku. 

 

 

        ČTVEREC 

           obvod 

      o =  

           obsah 

       S =  

 

      a = 8 dm 

  

 

      a = 0,12 m 

  

 

      a = 37 cm 

  

 

      a = 573 mm 

  

 

 



  

 

 

       OBDÉLNÍK 

         obvod 

o = 

           obsah 

    S =  

    a = 6, 7 cm 

    b = 286 mm 

 

  

    a = 0, 05 m 

    b = 4,8 dm 

 

  

    a = 578 mm 

    b = 0,56 cm 

 

  

    a = 0,78 dm 

    b = 59,24 cm 

 

  

 

 

 

 

 

 


